Opérations avec deux fractions (A)

Nom: Date: Note:

Calculez chaque résultat.

11'1— X = 11 1+3—
573 N 48
Inversion Solve
12 L3,
3.9 4714
32 - = 13 2><2—
3 3 773
4i+1— — 14%42— X
77 5718
e s L3l
373 17 T4
6o 2ol = 6 Ixi =
72 - 8 3
7%+1— E— 17 1—1— X
5 5 372
81_'_%— —_— 18ﬂ§_ —_—
6 3 77
o Ll o 3.1 _
979 8 2
oty 0 0.3 o
77 77
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Opérations avec deux fractions (A) Réponses

Nom:

10.

Date:
Calculez chaque résultat.
5°3 571 5 4 8 8
1_2_ 1 b 3 3
3 9 9 4714 56
2_1_ 1 b 2422 4
3 3 3 773 21
4.1 _ 05 L 2.2 18
7 7 7 5718 5711
2.2 _ 4 s 1.3 _ 1 4
373 9 17 T4 1773
2 1 2><2—4 y le_ 7
72 771 7 873 24
2+1 3 171 1—1><2
5 5 5 372 7 371
6 3 6 77 7
1><1 1 195 11
979 81 8 2 8
1.3 _ 4 b 6.3 _ 3
7 7 7 77 7

Note:

36
55
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